T E BT 1
o

| KGT&3  Z@gm | 0 e P.349
| PHS%3% ARE®E| 0000 e P.350
»{w” \HSR%JU BiE ‘ ..................... P. 351
JAC/JAD %5 #®B@H| 0 e P.352
[ VGHE EHZEBER| 000 e P 356
-
8 T VPA/BZ5 HZBE| 0 371

SIS |

L/ '(’ '@

&
L ,

| JPC%5I

347



[ IQERS HmEHEmM | 00 e P.373
| JBV&RE BE)HER| 020 e P.374

348



JFC

KGT ¥ ) $% 88

KGT ;ZEhiZsa

BX om 5] 18 3R 7R

1016 —~ P1.5
18 &L oF 1 A o i
1016:
227 1 F 42
% AM16
[m]
Q
KK
H
A
BA |BASIE
118 KK A B C D E F G H N U B |REARS | BN
(9) (mm) (N)
KGT-1003 M3x0.5 | 245 | 7 g [ 12 | 2 3 [ 35 8 7 [ 05 10 6 19
KGT-1004 M4x0.7 | 26 | 8 9 [ 12 | 2 Z 4 8 7 [ 05| 10 | 8-10 | 54
KGT-1003 M5x0.8 | 38 | 14 | 15 | 18 | 3 5 5 1 | 85 | 05 | 20 | 12-16 | 123
KGT-1006 M6x1.0 | 38 | 14 | 15 | 18 | 3 6 5 1 | 85 | 05 | 20 | 16-20 | 123
KGT-1008 M8x1.25 50 | 18 | 20 | 24 | 4 8 7 4 | 12 | 05 | 90 | 20-25| 1100
KGT-1010 M10X1-25 o4 | 50 | 22 | 26 | 5 | 10 | 7 | 17 | 14 | 075| 110 | 25-32 | 2500
M10x1.5
M12x1.25
KGT-1012 Mi2xT.5| 58 | 20 | 22 | 28 | 5 12 | 8 17 | 12 | 075| 110 | 32-40| 4400
M12x1.75
KGT-1074 M14x1.5| 70 | 21 | 24 | 35 | 7 T4 | 8 | 22 | 17 | 1 | 250 | 40-50 | 6000
KGT-1016 M16x1.5| 90 | 26 | 28 | 45 | 9 16 | 13 | 27 | 23 | 1.25| 500 | 5063 | 11000
KGT-1018 M18x1.5| 90 | 26 | 28 | 45 | 9 18 | 13 | 27 | 23 | 1.25| 500 | 5063 | 11000
KGT-1020 M20x1.5| 103 | 30 | 32 | 50 | 8 | 20 | 16 | 32 | 27 | 2 | 720 | 6380 | 18000
KGT-1022 M22x1.5] 103 | 30 | 32 | 50 | 8 | 22 | 16 | 32 | 27 | 2 | 720 | 6380 | 18000
KGT-1024 M24x1.5| 125 | 38 | 38 | 61 | 12 | 24 | 19 | 41 | 33 | 2.5 | 1300 | 80-100| 28000
KGT-1026 M26x1.5] 125 | 38 | 38 | 61 | 12 | 26 | 19 | 41 | 33 | 2.5 | 1300 | 80-100| 28000
KGT-1027 M27x2.0] 154 | 58 | 58 | 63.5| 19 | 30 | 19 | 41 | 33 | 2.5 | 1620 | 125 160 28000
M30x2.0
KGT-1030y3o0asel 154 | 58 | 58 | 635| 19 | 30 | 18 | 41 | 33 | 3 | 1620|125-160 54000
KGT-1036 mgggg 184 | 75 | 75 | 75 | 20 | 36 | 22 | 50 | 42 | 4 | 2820|160-200 71000
KGT-1039 M39x1.5| 184 | 75 | 75 | 75 | 20 | 36 | 23 | 50 | 42 | 4 | — |160-200 71000
KGT-1040 M40x2.0] 194 | 74 | 74 | 85 | 15 | 45 | 25 | 69 | 40 | 5 | — [200-250 —
KGT-104 mggg 194 | 74 | 74 | 85 | 15 | 45 | 25 | 69 | 40 5 | 4300 |200-250 —
KGT-1050 M50x2.0 210 | 70 | 70 | 105 | 16 | 53 | 35 | 85 | 55 | 6 | 6980 | 320 —

349




JFC PHS & HRi%5E

PHS &R IZHE

BX om 7] #8 3R 7R

PHS - 16B
| |

=2 .
7 ‘ﬁ ‘—: ﬁI
iR 18 A REL % 2

-

b 16B:32 71 8 7F
B | |mEB M6

AR R _
@ Ea | 2 (9)

N w

45| 6 | 79[65]| 7 | 450|150 10
7 8
8

i## % | KK |A | B|C|D|E| F|G

P
PHS-3 M3x0.5 27 |151/20| 8 |14 ] 3 6 3
PHS-4 M4x0.7 32 |74 24|10 |16 |35| 8 | 4 |52

5

6

8

95| 8 520 | 200 12
1.1] 9 9 | 620 230 18

PHS-5 M5x0.8 35 | 772712 |16 | 4 | 14
PHS-6 M6x1.0 39| 9 [ 30| 13|18 | 5 | 14 7 9 [12.7] 10 | 11 | 690 | 270 26
PHS-8 M8x1.25 | 47 [10.4| 36 | 16 | 22 | 5 | 17 9 | 12 |15.9]12.5] 14 | 990 | 430 45
PHS-10B | M10x1.25| 57 [12.9] 43 | 19 | 26 | 6.5| 21 | 10 [10.5] 14 |19.1] 15 | 17 |1340| 630 76
PHS-12B | M12x1.25| 66 |15.4| 50 | 22 | 30 | 65| 24 | 12 | 12 | 16 [22.2|17.5] 19 |1650| 800 114
PHS-14B |M14x1.5 | 75 |16.9| 57 | 25 | 34 | 8 | 27 | 14 |13.5] 19 |25.4| 20 | 22 |2090|1070| 158
PHS-16B |M16x1.5 | 83 |19.4| 64 | 27 | 38 | 8 | 33 | 16 | 15 | 21 [28.6| 22 | 22 |2470[1290| 200
PHS-18 M18x1.5 | 92 [21.9| 71 | 31 | 42 | 10 | 36 | 18 [16.8| 23 |31.8| 25 | 27 |2990|1620| 288
PHS-20 M20x1.5 | 100 (24.4| 77 | 37 | 46 | 10 | 40 | 20 | 18 | 25 |34.9|27.5| 30 |3460|1890| 372
PHS-22 M22x1.5 | 109 [25.8| 84 | 37 | 50 | 12 | 43 | 22 | 20 | 28 |38.1| 30 | 32 |4070|2290| 475
PHS-24B | M24x2.0 | 12229.6| 94 | 42 | 56 | 12 | 48 | 25 | 22 | 31 [42.9|33.5| 36 [4950(2830| 673
PHS-30B | M30x2.0 | 143|34.8|/ 110 | 50 | 67 | 15 | 56 | 30 | 26 | 37 |50.8| 40 | 41 |3770/3960| 1050

350



JFC HSR &3&X 28

HSR 12 i& =&

BX i 5] 18 3R 7R

- HSR 30
/& . : - 7R
A 15,30, 60, 80,100
A % 2 B 4N R
R~TH
3B R ~T Bl
A
172 B
21 24
. -
e e —f— - — " %
RgE HSR-15| HSR-30 | HSR-60 | HSR-80| HSR-100
A(mm) 153 203 282.5 351 390
B(mm) 138 173 222.5 271 290
B ATE(mm) 15 30 60 80 100
TEBECC) 0~0
T &R (kg) 15~350
T1EEE(mm/s) 0.5~30
EE(g) 470 495 615 690 765

351



o JAC EBEEATRFBEIMIER)

JAC/JAD ZEhizsA

® [FREEEE

@A E
RN, REHE

anp
[a3ay

5>

iEERRAMTE: (1)REREE (JAD)

(2)EREARAGHE (JAC)

pa:ul =y

IR ETERENRE , BRI R EN

——— S—
By | EERE | BEFE | BARK | pens| owrl | Pas’ | @REE | 52 | =t
(mm) BEE (Nm) (Nmvhr) (kg) (mis) (°C) g
JAC-0806 6 M8x1.0 2 8800 0.5~6 0.5~2 0~60 11 SC8
JAC-1008 8 M10x1.0 4 15200 2~9 0.8~3 0~60 20 SC10
JAC-1210 10 M12x1.0 5 17640 5~30 0.8~3 0~60 31.5 SC12
JAC-1412 12 M14x1.5 15 30000 8~100 0.8~3 0~60 80 SC14
JAC-1416 16 M14x1.5 20 35000 10~150 0.8~3 0~60 80 SC14
JAC-2020 20 M20x1.5 40 40000 30~700 1=38.8 0~60 215 SC20
JAC-2050 50 M20x1.5 60 60000 60~400 1~3.5 0~60 300 SC20
JAC-2525 25 M25x1.5 80 54000 200~1500 1~4 0~60 330 SC25
JAC-2540 40 M25x1.5 120 75000 300~2000 1~4 0~60 430 SC25
JAC-2580 80 M25x1.5 150 120000 20~200 1~4 0~60 535 SC25
JAC-3660 60 M36x1.5 250 120000 400~2400 1~4 0~60 1030 SC36
e JAD Z & &EE O] i
ny | GEEE | BEFE | BARK | rmpes | er | Tan® | gREE | EE@) | St
(mm) BEE (Nm) (Nm/hr) (kg) (mis) (°C) R85
JAD-1410 10 M14x1.5 20 25000 80 3 0~60 90 SC14
JAD-1425 25 M14x1.5 28 27500 140 3 0~60 190 SC14
JAD-2016 16 M20x1.5 25 28500 200 3.5 0~60 230 SC20
JAD-2525 25 M25x1.5 85 54000 400 3.5 0~60 350 SC25
JAD-2540 40 M25x1.5 100 80000 700 3.5 0~60 455 SC25
JAD-3625 25 M36x1.5 150 81000 1400 & 0~60 955 SC36
JAD-3650 50 M36x1.5 300 100000 1400 3 0~60 1100 SC36
JAD-4225 25 M42x1.5 260 125000 3000 3.5 0~60 1280 —
JAD-4250 50 M42x1.5 500 150000 4000 4.5 0~60 1490 —
JAD-4275 75 M42x1.5 750 180000 6000 4.5 0~60 1710 —
JAD-64050 50 M64x2.0 1200 150000 12727 1.5 0~60 4115 -
JAD-64100 100 M64x2.0 2400 200000 18181 1.5 0~60 5280 —
JAD-64150 150 M64x2.0 3600 250000 23636 1.5 0~60 6785 —

352




JFC JAC/[JAD Z&hizEmm

AN 1E:mm H $1:kgf

f‘i—tﬂm%10 12 | 16 | 20 | 25 | 32 | 40 | 50 | 63 | 80 |100| 125

7 7113.9|5.7| 10 |15.7|24.5| 40 [62.8| 98 |155| 251|393 | 613

— 0806 o o

— 1008 [ ) o
—1210 o

—1412

—1416

— 2020
— 2050 [ o [
— 2525 [ L [

(OVM)% 2| - it 56 ¥ &

— 2540 [ L

— 2580 [ o
— 3660 [ L o

—1410 [ [

— 1425

— 2016 o

— 2525

a3
|

— 2540
— 3625 [ o [

—an
HEH
i

— 3650 L

—4225

(avr) 5 o] kit S

—4250

—4275

—64050

—64100

— 64150

353



JFC

BX on 7] #8 3R 7R

JAC/[JAD #EE2s

JAD -+ 20 |+ 16 |4 SC20 |
l l l l l
EEHIELSE TIREINE | |EETIE TE fiI 12 18 EEE
l l l
JAC: B EiREARAY SCo8 BB
JAD: (B ik AT R >C10 EEBHMRE
SC12 Mk
SC14
SC20
SC25
SC25L
Az=pEm wrEes THnEEET 5C36
kv =
ANER R ~T
= /E- S ™
e JACEEEEA T
e JAC0806~JAC2050
e JAC2525 e JAC2540
H " — e H M !
R REYE m el [ .
—/ F \_J__I G F \_4’_
E e B ! E R B
A A
e JAC2580 e JAC3660
| . R
M
o L\V_\ F () b— = C;: = F
| v ==ng
J = O =
A - ‘ i _T -
G F
E fre B £ e = g -
A j A
BlgE 171 M A B C D E F M G H |
JAC-0806 6 M8x1.0 50 38 6.6 2.8 6 33 M8x1.0 — 11 3
JAC-1008 8 M10x1.0 57 43 8.6 3 6 37.9 | M10x1.0 — 12.7 3
JAC-1210 10 M12x1.0 69.5 50 10.3 3 9.5 455 | M12x1.0 — 14 4
JAC-1412 12 M14x1.5 98.5 76 12 4 10.5 67 M14x1.5 = 19 5
JAC-1416 16 M14x1.5 121.5 95 12 4 10.5 86 M14x1.5 — 19 5
JAC-2020 20 M 20X1.5| 145.8 110 18 6 15.8 101 M 20X1.5 — 26 7
JAC-2050 50 M 20X1.5| 232.8 167 17.8 6 15.8 158 M 20X1.5 — 26 7
JAC-2525 25 M 25X1.5 | 155.5 111 22 8 19.5 101 M 25X1.5 — 32 9
JAC-2540 40 M 25X1.5| 213.8 137 22 8 36.8 117 M 25X1.5 10 32 9
JAC-2580 80 M 25X1.5 | 336.5 237 22 8 19.5 100 M 25X1.5 — 32 9
JAC-3660 60 M 36X1.5| 248 162 35.5 10 26 134 M 36X1.5 17 46 15

354




JFC JAC/[JAD #E&ES%

oJAD ZZEZEE TR
e JAD1410~JAD2525 e JAD2540 JAD3625~JAD3650

. f(l“ - /N H
=k — - a1 JEEE T —

ifr

E e —-
JFf«
3 E
E B A
A

BUEE 712 M A B Cc D E F M G H |
JAD-1410 10 M14x1.5 109 88.5 12 4 10.5 72.5 M14x1.5 — 19 5
JAD-1425 25 M14x1.5 | 153.2 117 12 4 11.2 101 M14x1.5 — 19 5
JAD-2016 16 M20x1.5 | 148.8 117 17.8 6 15.8 101 M20x1.5 — 26 7
JAD-2525 25 M25x1.5 162 117.5 22 8 19.5 101 M25x1.5 — 32 9
JAD-2540 40 M25x1.5 | 221.3 | 144.5 22 8 36.8 117 M25x1.5 10 32 9
JAD-3625 25 M36x1.5 184 133 35.5 10 26 103 M36x1.5 10 46 15
JAD-3650 50 M36x1.5 247 171 35.5 10 26 134 M36x1.5 17 46 15
JAD-4225 25 M42x1.5 | 186.5 | 127.5 | 44.5 12 34 88 M42x1.5 | 28.5 50 15
JAD-4250 50 M42x1.5 | 241 157 44.5 12 34 117.5 | M42x1.5 | 28.5 50 15
JAD-4275 75 M42x1.5 | 301.5 | 187.5 | 445 12 39 148 M42x1.5 | 28.5 50 15
JAD-64050 50 M64x2.0 | 247.8 146 59 20 51.8 26 M64x2.0 23 76.2 9.4
JAD-64100 100 M64x2.0 | 347.8 196 59 20 51.8 26 M64x2.0 23 76.2 9.4
JAD-64150 150 M64x2.0 | 467.8 256 59 20 61.8 26 M64x2.0 23 76.2 9.4

SNERR T B

o EIRIE(SC)

=581 0 ©

, =

=7

A\

3

o

ﬁﬁnﬂ ) A B (3 D E ﬁ*gnﬂ ) A B (o D E
SC 08 14 11 126 |M8x1.0 — SC 20 35 26 29.7 |M20x1.5 25
SC 10 16 12.7 14.5 |M10x1.0 — SC 25 45 32 36.7 |M25x1.5| 31.5
SC 12 20 14 16 M12x1.0 - SC 25L 65 32 36.7 |M25x1.5| 31.5
SC 14 27 19 21.6 |M14x1.5 18 SC 36 80 46 53 M36x1.5 45

355



=
;E,I;
il
Hit
e
5;3

JFC VGA 1

VGA i T\ B 25 88 £ 28

FX on 7] {8 3R 7R

VGA +— 10
[ [ [
BEZERESR BEEEE BhERES
[ [

B

05:0.5mm EEAFER
L) 10:1.0mm | | THEZDREE
= 15:15mm | (STHENBEE
= 20:20mm | o EmhmRE
= » FER
&£
T
RIS R

EE B VGA VGA-SI VGA-SJ e \/GA &R E

fEmEe EHZER /1S0-VG32

fERRE (°C) 0~60

BiBHER (Kgficm?) rE

T{EEEA (Kgficm?) 1~6

FREEE (mmHg) — -400 -250~-550

HREERE E (mmHg) — -400 -400

EN{EIEE (mmHg) — +40

i3 7= (mmHg) — 30~100

ERER - AC125V : 5A~ AC250V : 3A

5 1% &

B | BEEER HRE |IEEZTE | Z=ERHEE | H#HEED
5H (mm) (¢/min) (-mmHg) (N¢/min) (Kgficm’)
VGA-05H5 0.5 6 650 13 5.0
VGA-05L5 0.5 9 430 13 5.0
VGA-10H5 1.0 27 690 44 5.0
VGA-10L5 1.0 36 430 44 5.0
VGA-15H5 1.5 63 690 100 5.0
VGA-15L5 1.5 95 430 100 5.0
VGA-20H5 2.0 110 690 180 5.0
VGA-20L5 2.0 165 430 180 5.0
VGA-10H3.5 1.0 25 680 44 3.5
VGA-10L3.5 1.0 32 430 44 BI5
VGA-15H3.5 1.5 54 680 100 3.5
VGA-15L3.5 1.5 86 430 100 815
VGA-20H3.5 2.0 88 680 180 3.5
VGA-20L3.5 2.0 150 430 180 BI5

356



JFC VGA M B3 4 28

® VGA EXRE

et B4 EE

B

by A B C D E F G H | J K L M N
=T
VGA-05 | 46 26 16 10 8 13 18 4 42 |PS1/8| 10 |PS1/8| 28 16
VGA-10 | 46 26 16 10 8 13 18 4 42 |PS1/8| 10 |PS1/8| 28 16
VGA-15 | 65 30 20 12 10 22 23 5 45 |PS1/4| 15 |PS1/4| 39 21
VGA-20 | 88 38 26 12 13 25 35 6 52 |PS3/8| 20 ([PS1/4| 50 26
® VGA-SIZ!
o

C5R
Rt A B C D

VGA-SI-05 | 16 56 28 35
VGA-SI-10 | 16 56 28 35
VGA-SI-15 | 23 80 39 38
VGA-SI-20 | 26 108 50 38

e \VGA-SJ &
30
1
| & ) — ki
T W s :
- @ I T S ® SRET T N:E
! A |2 B \_ c |
T
At A B C D

VGA-SJ-05| 16 56 28 35
VGA-SJ-10 | 16 56 28 35
VGA-SJ-15| 23 80 39 38
VGA-SJ-20 | 26 108 50 38

357



JFC VGU

VGU EFAEHZEHES

‘u-ulf_\\]]
ﬂ_lg
il
H
élg

® VGU At BX mn 5] f& 3R 7R
L

VGU — 10
[ [
B4R &5 E &
l l
e EFHXEZTZRHEREMNE =5 10:1.0mm
. Brown  DCH) % 15:1.5mm
| \:? 500 5008 b2 20:2.0mm
Swijch Black | m E
main ouT = DC12~ 24V
circuit 4‘%{ T F I E
| Blue% DC(-) 'Eé
4
7
%74 =+
ARG IR SR
fERe B #EZER/1SO-VG32 B3 | EEEE HRE |IEFEZE | ZRHEHEE | HEEN
EEEE (C) 0~60 || (mm) (¢min) (-mmHg) (N¢/min) (Kgffem®)
VGU-10H5 1.0 27 690 44 5.0
&Y +
RIRHERE (Kgffom?) | K VGU-10L5 10 36 430 44 5.0
TEEA (Kgflem?) | 1~6 VGU-15H5 15 63 690 100 5.0
REEHE (mmHg) | 0~759 VGU-15L5 15 95 430 100 5.0
i (Kgfiom) | 5 VGU-20H5 2.0 110 690 180 5.0
e . VGU-20L5 2.0 165 430 180 5.0
BiFRE +1%FS VGU-10H35| 1.0 25 680 44 35
EEEE 0.05% VGU-10L3.5 1.0 32 430 44 35
E = (mmHg) | 1~10%(TT38) VGU-15H3.5 1.5 54 680 100 35
VGU-15L3.5 15 86 430 100 35
2 ~ .
Hjjjﬁ*_” DC 30_\1' 80MA VGU-20H3.5 2.0 88 680 180 35
HAFRR EERT IR VGU-20L3.5 2.0 150 430 180 35
kv =
BB R ~F
2—9EE7 %’E%’E
M \ A K C ATt A|B|C |D E|F |G |H
== T
\ G F | L(esmm)
| | VGU-10 | 46 | 35 |16 | 10 | 8 | 13 | 18 | 4
i} & S— o VGU-15 | 65 | 30 | 20 | 12 | 10 | 22 | 23 | 5
® *’*’*’*’*’*g’*’:* 1| VGU-20 | 88 | 38 | 26 | 12 | 13 | 25 | 35 | 6
—7f g ‘
® | BE oo sk |L|m|n]o]|e
sy /1E] | Bz
o P VGU-10 |42 | 1/8 | 10 | 1/8 | 28 | 16 | 84 | 32
VGU-15 |45 | 1/4 | 15 | 1/4 | 39 | 21 | 119 | 36
VGU-20 |52 | 3/8 |20 | 1/4 | 50 | 26 | 158 | 42

358



JFC

VGM 2 1)

hul
am
\

Hi

BEEES

-~

MR 3R

D E#EZER / 1SO-VG32
ERRE (°C) 0~60
HEMEE E (Kgflom?) | REE

PRI HEH

T{EEEAN (Kgflcm?) 1~6

BREBE (V)

AC 110 \ AC 220 \ DC 24

VGM Z I E 3 4 28

{55 FH EB B2 & [ -10%~+15%
HEFEES (VA) VA | 5VA | 5w
ENMEIEE +1%FS
EREE 0.05%#
B Z= (mmHg) 1~10% (2T 3R)
HAEE DC~30V : 80MA
HAERR R =S
=+
15 1 3R

B | BEEER HRE |IFEZTE ZRHEE | HEEN
1HH (mm) (¢min) (-mmHg) (N¢/min) (Kgffent)
VGM-10H5 1.0 27 690 44 5.0
VGM-10L5 1.0 36 430 44 5.0
VGM-15H5 1.5 63 690 100 5.0
VGM-15L5 1.5 95 430 100 5.0
VGM-10H3.5 1.0 25 680 44 35
VGM-10L3.5 1.0 32 430 44 35
VGM-15H3.5 15 54 680 100 35
VGM-15L3.5 1.5 86 430 100 35

359

FX om 5] fE 3R R

VGM 10

[ [
HZEEAER EIEEE

\ \

g 10:1.0mm

Ij] 15:1.5mm

AE

B

=

£

4

o1




JFC VGM ZINREE =84

L

o ETINEZEFIRAMHEHIEIEE
H A& 2 6 0 B Pl 3E B fE R 6l
A &R B B
A
Bo4RE {EENZR AR Bo4RE {EENER AR
DC+24V ov SW omz | SW omz | SW omz || DC+24v ov SW omE | SW oxz
o—offit %@m o\zm N -
owE oE W
® Rz — ® [7z= sazem | | [mzms
= e | || mzeme | | [qe20N i
ffl B8 | ey I‘—I lil©) | |
b HTERE
é AVM(Kissing) “« ® OFF ﬁgr‘gug « @ \
Ze soL1
= | BB
% B ‘ CR1 - P& ‘
5 CR1 "
= — L e — @ R
—~ .\ RRMEIR = Wi
w | Ot soL2 ik @ Bz
B L= CR2 SOL1 |BH#6E ‘ G
gg o 2B " AR
= . A £ \ TR1  SOL1 |Huex Rk

Bz B OFF —o—o0 = &f
CR1 ] ‘ -
BESE o2k =
TR2 SOL2 R

\ Ao oot |
PNSE .

— ‘
LA ERESE

ShER R~
e VGM-10/15
PS1/8&sn(EE)
| P ————— K
HES C D E F L

2 -pBEIEF

E . wamEwm| @

L\ wrmes || ,_,,> |l B ||
VS—-030W—-01 \
|
1

M i ﬁ%mﬁ

i BERR BRI ‘
H _L I _L 16| 35 J(man) ; LL

44
24

VGM-10 | 165 | 4.2 19 18 24 50 45 42 14 |PS1/8| 60 28 57 11 12 150
VGM-15 | 180 | 4.2 20 23 31 51 46 58 16 |PS1/4| 61 | 295 | 60 | 125 | 14 165

360



JFC VGM ZINFEE 2o 8 4 28
B 75 % 45 15 5 B

— PxA
W—fox(1.0332)

W : IRZBEA (kgf)
P : EZE(-mmHg)
A REEFE(cm?)
f: Z22%H
5t KPR - =40 E
EHRER - =6~8 L

REZEH
t ot

KR T EHRS

5 JE Ik 58 38 5 7K S IR & 77

o IFBE: 10~40mm o IRBBETE: 50~200mm

% 225 @20 215 | \ @10
235

2,50//@60 280 o0 Lo -
-600 5
—~—_ ~_| \ ‘0 // /

— 5200
N N\ I 1/ -
\\ (mmHg)
(kg) 8 7 6 5 4 3 2 1 0 0 50 100 150 200 (kg)

38 & TR = 7]

o ElfZ IR AR

%2R ~F(@mm) 2 3.5 5 6 8 10 15 20 25 30 35 40 50 60

RZEEE(cm?) 0.031 | 0.096 | 0.196 | 0.282 | 0.502 | 0.785 | 1.767 | 3.141 | 4.908 | 7.068 | 9.621 | 12.56 | 19.63 | 28.27
- 700 mmHg 0.029 | 0.091 | 0.186 | 0.269 | 0.478 | 0.747 | 1.681 | 2.989 | 4.670 | 6.725 | 9.153 | 11.95 | 18.68 | 26.90
-600 mmHg 0.025|0.078 | 0.160 | 0.230 | 0.409 | 0.640 | 1.441 | 2.562 | 4.003 | 5.764 | 7.846 | 10.24 | 16.01 | 23.05
- 500 mmHg 0.021 | 0.065 | 0.133 | 0.192 | 0.341 | 0.533 | 1.200 | 2.135 | 3.336 | 4.083 | 6.538 | 8.540 | 13.34 | 19.21
- 400 mmHg 0.017 [ 0.052 | 0.106| 0.153 | 0.273 | 0.427 | 0.960 | 1.708 | 2.668 | 3.843 | 5.230 | 6.832 | 10.67 | 15.37
- 300 mmHg 0.012 | 0.039 | 0.080| 0.115 | 0.204 | 0.320 | 0.720 | 1.281 | 2.001 | 2.882 | 3.923 | 5.124 | 8.006 | 11.52

% 88 R ~f (@mm) 80 95 100 | 120 | 150 | 200
RZEEE(cm?) 50.26 | 70.88 | 78.53 | 113 | 176.7 | 314.1

- 700 mmHg 47.82 | 67.44 | 74.79 | 107.6 | 168.1 | 298.9
- 600 mmHg 40.99 | 57.80 | 63.05 | 92.23 | 144.1 | 256.2
- 500 mmHg 34.16 | 48.17 | 53.37 | 76.86 | 120.0 | 213.5
-400 mmHg 27.32138.53 |42.70| 61.48 | 96.07 | 170.8
- 300 mmHg 20.49 | 28.90 | 32.02 | 46.11 | 72.05 | 128.1

361



JFC VPA EE EZXIRIE

VPA EE Bz k5

BX on 7] #8 3R 7R

Q=
| £ VPA — A — 10 ~ N
- ¢ = | | | |
- g% HEERE | REEHE | REBERY| |REME
N = l l l l
\/ oo AYIEERE 5:5mm N : NBR
N — 4 =+ (@5~295) 6:6mm Si - W
[E 8:8mm :
= B:fl@ElE 1010 mm
2= (05-0200) | o5 mm
1)) ASIIEEE| |20:20mm
o M EE R 2525 mm
(25~295) 30:30 mm
BSfl@fic® | |35:35mm
BfsEEE Ry 40 : 40 mm
(25~ 2200) 50 : 50 mm
60 : 60 mm
80 :80 mm
95:95 mm
100 : 100 mm
120 : 120 mm
150 : 150 mm
200 : 200 mm
st 3
fic &= tE4a
VPA-A M [EE & VPA-B @i & VPA-AS I EMIEER | VPA-BS fAl[@ft EHiiEET
VCA

7R 2R
an kot RE +
Mk 88 +4 & B 45 4
EH| mps o | B | B | , T | ==
e | EE |ERE | G5 | TR | WRR | WRE | W | R BRE | o | WEE R | ol |BEHS
NBR | o 0 0 A o o o X 0 o o ° o | 7045
wE | A o A A o o o 0 o X X o o | 5045

HE: O EE ;O K LES ; A FEE; X FAER

362



JFC

ShER R <1 [E]

o VPA-AEREII[OEE(05~095)
o IREER~T: 95 - 96 ~ ¥8

2-05.5

~~~~~~ &

10

20 10 5
40
a5
‘ ‘ 2.5
~ M8x1.25
10H
m
o | |
~ [ \ |
[ [
I a ~
(@] !
[}
o
B
il A B C D
VPA-A-5 5 28 6 0.9
VPA-A-6 6 28 6 1.0
VPA-A-8 8 27.5 5.5 1.4

o MBER~F: 925 ~ ¢30 ~ ¢35 ~ ¢40 ~ ¢50

@5
23
|
M10x1.5 [ ©
i
14H o @
L) S
e
(@)
[l 1 \
@A
RIS RO A B © D E
VPA-A25 | 25 62 14 3 M6
VPA-A-30 | 30 60 12 2 M6
VPA-A-35 | 35 62 14 3 M6
VPA-A-40 | 40 62 14 3.5 M6
VPA-A-50 | 50 63 15 4 M8

o RER~F: 910~ 015 ~ 920

@5
23
|
M8x1.25 m ©
i
m
10H ‘ ol
M5x0.8 i
~d/
I \ )
Dﬁél;
oA
B
Aot A B c D
VPA-A-10 10 46 8 1.3
VPA-A-15 15 46 8 1.9
VPA-A-20| 20 48 10 2.3
o IREER~F: 060 - p80 ~ ¥95
%\ M16x1.5
|
21H ‘ &
N
|
\ g
| o
M10x1.25 1
! 1
L O
R -
a) y
| |es
‘ oA
B
- A B c D
VPA-A-60 60 56.5 16.5 5
VPA-A-80 80 60.5 20.5 6
VPA-A-95 93 61 21 6

363



o)

(V-
u |
L]

JFC VPA BEE %R

e VPA-AS ERE U MACE M EZE(95~095)

o IRIBR~F:05 0608 o IRBER~:910- 915~ 020
2-05.5
@5
>——G-B - .
2040 10 5 M11x1.0 H_- ~

14H

Q
a
R
19

o
B
W B @
S ‘ =3
[ L
s | | =
| T 111 !
@ [ 1 ,! T T N {‘ :
1/E M5x0.8 b _
NN) : . \ |
JIE 7 I o
11k . S
oF—¢ L en ]
of = oA
2]
AL w S B w S
iy A B C D E F (kgf) |(m/m) .y A B C D E F kgf) |(m/m)
Fithx
VPA-AS-5-3 5 |346| 4 |26 6 |09 0.1 3 VPA-AS-10-4 | 10 | 54 8 3 8 (13| 0.3 4
VPA-AS-5-10| 5 [48.6| 4 [ 26|20 |09 | 0.1 | 10 VPA-AS-10-10| 10 | 66 | 8 3 20 (1.3 | 0.3 | 10
VPA-AS-5-15| 5 |58.6| 4 | 26|30 09| 0.1 ] 15 VPA-AS-10-20| 10 | 86 8 3 40 (1.3 | 0.3 | 20
VPA-AS-5-25| 5 |78.6| 4 |26 |50 | 09| 0.1 ]| 25 VPA-AS-10-30| 10 | 106 | 8 3 60 (1.3 | 0.3 | 30
VPA-AS-6-3 6 |346| 4 |26 6 | 1.0 0.1 3 VPA-AS-15-4 | 15 | 54 8 3 8 (19| 0.3 4
VPA-AS-6-10| 6 |48.6| 4 | 26|20 |1.0| 0.1 | 10 VPA-AS-15-10| 15 | 66 8 3 20 (1.9 | 0.3 | 10
VPA-AS-6-15| 6 |58.6| 4 | 26|30 10| 0.1 | 15 VPA-AS-15-20| 15 | 86 8 3 40 {19 | 0.3 | 20
VPA-AS-6-25| 6 |78.6| 4 |26 |50 |1.0]| 0.1 | 25 VPA-AS-15-30| 15 (106 | 8 3 60 (1.9 | 0.3 | 30
VPA-AS-8-3 8 |341|55|06| 6 |14 | 0.1 3 VPA-AS-20-4 | 20 | 56 | 10 | 3 8 (23| 0.3 4
VPA-AS-8-10| 8 [48.1| 55|06 |20 |14 | 0.1 | 10 VPA-AS-20-10| 20 | 68 | 10 | 3 20 (2.3 |03 | 10
VPA-AS-8-15| 8 |58.1| 55|06 |30 |14 | 0.1 ]| 15 VPA-AS-20-20| 20 | 88 | 10 | 3 40 {23 | 0.3 | 20
VPA-AS-8-25| 8 |[78.1| 55|06 |50 |14 | 0.1 | 25 VPA-AS-20-30| 20 (108 | 10 | 3 60 [ 2.3 | 0.3 | 30

364



JFC

SNERR T B

o MBR~: 925~ 030~ ¢35~ p40 ~ @50

@5
o3
|
r
[ N~
M14x1.5 H— -
17H 5
N
N
e
| Fo
‘ =
W B o
S ‘ =
| s w
| b
| =]
@25~ @40=M6 o [l [
@50=M8(M6 b
1 al
. o
o .
oA
O3 w
B Al B 1 CIDEF | kgh|(mm)
VPA-AS-25-6 | 25 | 71 |14 | 3 [13| 3 [04 | 6
VPA-AS-25-15| 25 | 88 | 14 [ 3 [30 | 3 [ 04 | 15
VPA-AS-25-30| 25 | 118 | 14 | 3 |60 | 3 [ 0.4 | 30
VPA-AS-25-50| 25 | 158 | 14 | 3 [100] 3 [ 0.4 | 50
VPA-AS-30-6 | 30 | 69 |12 | 3 [ 13| 2 [04 | 6
VPA-AS-30-15/ 30 | 86 |12 [ 3 [30 | 2 [ 04 [ 15
VPA-AS-30-30| 30 [ 116 | 12 [ 3 [60 | 2 | 0.4 | 30
VPA-AS-30-50[ 30 [ 156 [ 12 | 3 [100| 2 [ 0.4 | 50
VPA-AS-35-6 | 35 | 71 |14 [ 3 [13| 3 [09 | 6
VPA-AS-35-15[ 35 | 88 [ 14 | 3 [30| 3 [09 | 15
VPA-AS-35-30| 35 [118 [ 14 | 3 [60 | 3 | 0.9 | 30
VPA-AS-35-50[ 35 [ 158 [ 14 | 3 [100| 3 [ 0.9 | 50
VPA-AS-40-6 | 40 | 71 [ 14 | 3 [ 13 |35][09 | 6
VPA-AS-40-15[ 40 | 88 [ 14 | 3 [30 [3.5] 0.9 | 15
VPA-AS-40-30| 40 [ 118 | 14 | 3 |60 [3.5]| 0.9 | 30
VPA-AS-40-50| 40 | 158 | 14 | 3 [100[3.5[ 0.9 | 50
VPA-AS-50-6 | 50 | 89 | 15 [20 [13 | 4 [09 | 6
VPA-AS-50-15| 50 | 89 | 15 | 3 [30 | 4 [ 0.9 | 15
VPA-AS-50-30| 50 [ 119 [ 15 [ 3 |60 | 4 [ 0.9 | 30
VPA-AS-50-50| 50 | 159 | 15 | 3 [100| 4 [ 0.9 | 50

[ =] = R — L
VPA EJE HEZEIE 5L
[= oY
o IRBER~F: 960 - ¢80 - p95
o7
@4.5
|
s 7o)
Mi6x15 N
21H =
Q
ol
o
| Fo
‘ =)
o
W | =3 m
S ‘ =3
| o w
| b
| Fo
{ =
M10x1.25 B
\ a
! i o
oA
B W
Izt A| B |C|D|E|F|kghl|mm
VPA-AS-60-10| 60 [108.5/16.5| 19 | 20 | 5 | 1.0 | 10
VPA-AS-60-30| 60 [148.5/16.5/ 19 | 60 | 5 | 1.0 | 30
VPA-AS-60-50| 60 [188.5|16.5| 19 [100| 5 | 1.0 | 50
VPA-AS-60-70| 60 [288.5/16.5| 19 [140| 5 | 1.0 | 70
VPA-AS-80-10| 80 [112.5/20.5/ 19 | 20 | 6 | 1.0 | 10
VPA-AS-80-30| 80 [152.5/20.5/ 19 |60 | 6 | 1.0 | 30
VPA-AS-80-50| 80 [192.5/20.5| 19 [100| 6 | 1.0 | 50
VPA-AS-80-70| 80 [232.5/20.5| 19 [140| 6 | 1.0 | 70
VPA-AS-95-10| 93 [113 | 21 |19 |20 | 6 | 1.0 | 10
VPA-AS-95-30| 93 [153 | 21 | 19 |60 | 6 | 1.0] 30
VPA-AS-95-50| 93 [ 193 | 21 | 19 [100| 6 | 1.0 | 50
VPA-AS-95-70| 93 [233 | 21 | 19 [140| 6 | 10| 70

it RPERWHRRES /21T (kof) - SKEREGTE(m/m)

365




JFC

e VPA-B EERIEAEE (95~0200)
o IREBR~T:05 - 06 ~ 08

21

r@10 M4x0.7 F6mm
N
® 10H | N
- Nl b
—] Q| n
kEE —1 | 0
- ' N
S '
D:’: ‘ ©
A
i
i 8 A B C
VPA-B-5 5 28.5 4 0.9
VPA-B-6 6 28.5 4 1.0
VPA-B-8 8 28 55 1.4
o IR~ :p25~050
23
rQ12 M6x1.0 FE8mm
o 14H
N
1y S
| m
w0 [s2)
Q|
o
[a]
OA
B
FiThoy A B © D E
VPA-B-25 25 46 14 3 M6x1.0
VPA-B-30 30 44 12 2 M6x1.0
VPA-B-35 35 46 14 3 M6x1.0
VPA-B-40 40 46 14 35 M6x1.0
VPA-B-50 50 47 15 4 M8x1.25

VPA EEBEH

o REER~F: 910~020

21

oo

s

M4x0.7 Z&6mm

o)
Iy

< 10H
&
— T o
w
Q
o
a
A
B
i A B C D
VPA-B-10 10 30 8 1.3
VPA-B-15 15 30 8 1.9
VPA-B-20 20 32 10 2.3
o IRBER~T: p60~0p95
M8x1.25 F11mm @17
®
o
<
a5 m
M10x1.25
j:] l\ o
| N o
|
| on |
B
iy A B (o3 D
VPA-B-60 60 56.5 16.5 5
VPA-B-80 80 60.5 20.5 6
VPA-B-95 93 61 21 6

366




35

JFC
5b 2 R <

o MHER~t: 9100

M12x1.75 & 18 mm

|

PS 1/8 /J E ©
PS1B8 |
]

7/ 12 5\ E—

‘ @100

VPA B

o
[N

E E 20 IR

367

o RBR~F: ¢120~p200

M16x2.0 % 20mm @30
\‘
\
| o
‘ N
)
B o0 N
il | .
| ! ==
R HIN ) \PS 1/8
—1 0 | ]
O [ ] |
A L
|
4-M8 @40
oA
pi T A B c 5
VPA-B-120 120 74 24 6
VPA-B-150 150 87.5 87.9 14.5
VPA-B-200 | 200 87.5 37.5 13




JFC VPA BEE IR
5M2R 2 ~F [

o VPA-BS EERREEMEZE (05~0200)
o IRABBRF:95 - 06 - 08 o IREER<F: 910 - 915 - 920

M11x1.0

M10x1.5

i
=6 o
g a8 |c D |E|F W lmm R Al B |c|D|E|F|u|mm
VPA-BS-5-3 5 |505| 4 |245| 6 09| 0.1 3 VPA-BS-10-4 10 60 8 22 8 1.3] 0.3 4
VPA-BS-5-10 5 (645 4 245,20 |09 01 10 VPA-BS-10-10| 10 72 8 22 | 20 [1.3] 0.3 10
VPA-BS-5-15 5 |745| 4 |245| 30 |09 0.1 15 VPA-BS-10-20| 10 92 8 22 | 40 [1.3] 0.3 20
VPA-BS-5-25| 5 [945| 4 (24550 |09 01 25 VPA-BS-10-30| 10 | 112 | 8 22 | 60 {1.3| 0.3 30
VPA-BS-6-3 6 |505| 4 |245| 6 1.0 0.1 3 VPA-BS-15-4 15 60 8 22 8 191 0.3 4
VPA-BS-6-10 6 [645| 4 (24520 |[10] 01 10 VPA-BS-15-10| 15 72 8 22 | 20 [19] 0.3 10
VPA-BS-6-15 6 |745| 4 |245| 30 |1.0| 0.1 15 VPA-BS-15-20| 15 92 8 22 | 40 (19 0.3 20
VPA-BS-6-25 6 |945| 4 |245|50 |1.0| 0.1 25 VPA-BS-15-30| 15 | 112 8 22 | 60 [19] 0.3 30
VPA-BS-8-3 8 50 551|225 6 1.4 1 0.1 3 VPA-BS-20-4 20 62 10 22 8 231 0.3 4
VPA-BS-8-10 8 64 55122520 |14 | 0.1 10 VPA-BS-20-10| 20 74 10 22 | 20 (23] 0.3 10
VPA-BS-8-15 8 74 55122530 |14 | 01 15 VPA-BS-20-20| 20 94 10 22 | 40 (2.3] 0.3 20
VPA-BS-8-25 8 94 551|225/ 50 |14 | 0.1 25 VPA-BS-20-30| 20 | 114 | 10 22 | 60 (23] 0.3 30

368



a
M

JFC VPA EEHZEIREE
5p 85 R <1 B

o IREER~T: 25~ ¢30 ~ ¢35 ~ 40 - 50 o RIBR~T: 960 ~ ¥80 ~ P95
M14x1.5
- N & M16x1.5
Ll
Ll
om
o m
N [m]
[m)]
YoM Nes) 1
Sis 0 M10x1.25
@25~B40=M6
@50=M8 o m
oA |
g A |8 |c (D |E[F \hlmm| |ax~—"|A|B |c|p|E|F|ulmm
VPABS25-6 | 25 | 87 |14 |32 |13 | 3 | 04 | 6 VPA-BS-60-10| 60 | 109 |16.5| 40 | 20 | 5 | 1.0 | 10
VPA-BS25-15| 25 | 104 | 14 | 32 |30 | 3 | 04 | 15 VPA-BS-60-30| 60 | 149 |16.5] 40 | 60 | 5 | 1.0 | 30
VPA-BS25-30| 25 | 134 | 14 | 32 |60 | 3 | 04 | 30 VPA-BS-60-50| 60 | 189 |16.5| 40 |100| 5 | 1.0 | 50
VPA-BS-25-50| 25 | 174 | 14 |32 [100| 3 | 0.4 | 50 VPA-BS-60-70| 60 | 289 |16.5| 40 |140| 5 | 1.0 | 70
VPA-BS:30-6 | 30 | 85 |12 |32 |13 | 2 | 04 | 6 VPA-BS-80-10| 80 | 113 |20.5| 40 | 20 | 6 | 1.0 | 10
VPA-BS-30-15| 30 | 102 |12 |32 |30 | 2 | 04 | 15 VPA-BS-80-30| 80 | 153 |20.5| 40 | 60 | 6 | 1.0 | 30
VPA-BS-30-30| 30 | 132 | 12 | 32 |60 | 2 | 04 | 30 VPA-BS-80-50| 80 | 193 |20.5| 40 |100| 6 | 1.0 | 50
VPA-BS-30-50| 30 | 172 | 12 | 32 [100| 2 | 0.4 | 50 VPA-BS-80-70| 80 | 233 |20.5| 40 |140| 6 | 1.0 | 70
VPA-BS35-6 | 35 | 87 |14 |32 |13 | 3 | 09 | 6 VPA-BS-95-10| 93 | 113 | 21 | 40 | 20 | 6 | 1.0 | 10
VPA-BS-35-15| 35 | 104 | 14 | 32 |30 | 3 | 0.9 | 15 VPA-BS-95-30| 93 | 153 | 21 | 40 | 60 | 6 | 1.0 | 30
VPA-BS-35-30| 35 | 134 | 14 | 32 |60 | 3 | 0.9 | 30 VPA-BS-95-50| 93 | 193 | 21 | 40 |100| 6 | 1.0 | 50
VPA-BS-35-50| 35 | 174 | 14 | 32 [100| 3 | 0.9 | 50 VPA-BS-95-70| 93 | 233 | 21 | 40 |140| 6 | 1.0 | 70
VPA-BS-40-6 | 40 | 87 | 14 |32 |13 | 35| 09 | 6
VPA-BS-40-15| 40 | 104 | 14 | 32 | 30 | 35| 0.9 | 15
VPA-BS-40-30| 40 | 134 | 14 | 32 | 60 | 35| 0.9 | 30
VPA-BS-40-50| 40 | 174 | 14 | 32 [100|3.5] 0.9 | 50
VPA-BS-50-6 | 50 | 88 | 15 |32 |13 | 4 | 09 | 6
VPA-BS-50-15| 50 | 105 | 15 | 32 |30 | 4 | 0.9 | 15
VPA-BS-50-30| 50 | 135 | 15 | 32 | 60 | 4 | 0.9 | 30
VPA-BS-50-50| 50 | 175 | 15 | 32 |100| 4 | 0.9 | 50

369



JFC VPA EEHZEIREE
508 R <1 B

o REER~T: ¢100 o RHER~: 120 - 150 ~ 3200
36H
L 27H
|:|>i ]
I M30x1.5
Yo}
[3p]
m m \W
w S
4-M8
[m]
(@] [T
[T L
25 w| s 5 w| s
ilpen A | B |CID|E|F lkg|mm) Bt A | B |CID|E/|F | kg|mm)
VPA-BS-100-15|100 [106 | 19 | 16 | 30 6 1.5 15 VPA-BS-120-20 | 1201|204 |25.5| 50 | 75 6 1.5 | 20
VPA-BS-100-30 | 100 {136 | 19 | 16 | 60 6 1.5 30 VPA-BS-120-100|120 | 294 [25.5| 50 |165| 6 1.5 | 100
VPA-BS-100-50 {100 {176 | 19 | 16 |100| 6 1.5 50 VPA-BS-150-20 |150 (216 |37.5| 50 | 75 |14.5| 1.5 | 20
VPA-BS-100-70 {100 216 | 19 | 16 |140| 6 1.5 70 VPA-BS-150-100| 150 | 306 |37.5| 50 |165 |14.5| 1.5 | 100
VPA-BS-200-20 |200|216(37.5/ 50 |75 | 13 | 1.5 | 20
VPA-BS-200-100| 200 | 306 [37.5| 50 (165 | 13 | 1.5 | 100

it RPECHWRRESZ /21T IES (kof) - SKEREETTIE(m/m)

370



JFC PA EJZ R

Al &R &1 B & n

PA — 10 — 1
| | |
| |
‘ E 5:5mm 25:25mm | 80:80 mm
6:6 mm 30:30mm | 95:95 mm
E 8:8 mm 35:35mm | 100 : 100 mm
1) 10:10mm | 40:40mm | 120: 120 mm
ﬂé‘ 15:15mm 50:50 mm | 150 : 150 mm
. 20:20mm | 60:60 mm | 200 :200 mm
i
R
VPA
5l
Sh 38 R~ Bl
PA-05 PA-06 PA-08 PA-10

@75 @75 28
o6 26 26

g5 mn S i A R s
: Coms i - o 1 Te
ﬂ_J 6 10
PA-15 PA-20 PA-25 PA-30

7.8 o1

@

8 — — [
5= =l
2 15 2108 B 211 P11

@20 225 @29

214

e
=)

23 45

PA-35 PA-40 PA-50
@27
@21 @24 220
o6 o6 a8

N N N

" NE: " JE—K:* : O\ e
e e i N

@35 @40

5

371



JFC
5b 28 R < 5

v
>

;
I
o

PA-60 PA-80
o125
- 12,5
M10x1.25
EL o ‘ ‘ o gL o 7 M10x1.25 o

X
jf
o

i
?
4

PA-95 PA-100
@217
@125
M12x1.75p
M10x1.25 .
“:L . T o Rc 1/8 \ ‘

~
NN
EL
/
T .
NHE
L‘IQ 16

:
@100
PA-120 PA-150
‘ 2108
@56 ‘ @56
4-8.7 ‘ @40 4-98.7 @40
220 @20
g Iy m sy ©vlwe \ W ‘ 0
y° \ I "y 1° N T )
© 1 | ‘ < *% : — ﬂ
1: - ! ‘ l ;*i — ﬁ \
4-@14 + 4-014
2120 @150
PA-200
2140.8

12.5

L—"
1.5

372



JFC

JPC 5|&

ll

/.,

.

W
e
_@&

€

R R

3 LE S

) B

vﬁa

2

d

BUgE JPC-02 JPC-04
H#&(Rc) 1/4 3/8
Bz ] BRHEZER

fEFE S (kglcm?) 0.5~9.5
fERRE(C) -10~+70
BHEEE(MmM?2) 24 79
#AESRZ (times/min) 60 40
FE(9) 100 340

\

INERR T B

JQE RIEPERFE

5

JPC/JQE

PR mE] BB R R

z JPC 02
A \ \
Bl e
EC \
Uzl 02: Rc1/4
1k 04: Rc3/8
5]
® JPC-02 ® JPC-04
oig REI/ #28 RC1/8
T T
| |
T PF1/4 ~ KI!I PF3/8
A} — ¢ ,,iJ} ,,,,, H/
s E — o
L j ; Q
24.5 N L]
PF3/8 42
kv =
AR R ~F
RugE JQE-01| JQE-02 | JQE-03 | JQE-04 | JQE-06
O (Rc) 1/8 1/4 3/8 112 3/4
RS BiExER
fERRE(CCC) 0~60
{E FEE A1 (kgflcm?) =7
RAHE (/min) 600 1450 | 1450 | 3000 | 3900
BEE2(g) 40 100 80 240 230

R on 7] #8 3R 7R

| JQE | 02 |
|
G —
. - "
‘ | LA L ~§?
] T T [ i s i i
© L & f— HLF 01:Rc1/8
PS L AL——— = PD Al 02:Rc1/4
e | Ll ‘ =
DL:ﬂ = \ 7/ 04:Rc1/2
‘r .

| A | B | 06: Rc3/4

_ Cc

RCIR

— A | B|cCc | D|E F| G| H| J | K| L | PS| PD
JQE-01| 40 8 16 9 14 26 35 12 3.4 22.6 26 1/8" 1/8"
JQE-02| 62 11 26 12 22 45 55) 19 4 29.5 | 335 1/4" 3/8"
JQE-03| 62 13 26 12 22 45 55 19 4 295 | 335 3/8" 3/8"
JQE-04| 69 20 40 20 36 51 62 20 4 46 50 1/2" 1/2"
JQE-06| 69 20 40 20 36 51 62 20 4 46 50 3/4" 3/4"

373



JFC JBV ;5 ENREERT

r [H B on 7] #8 3R 7R

JBV — 02 — A
[ [ [
. O O&iELE
N =)
18 ‘ ‘
L)) 01:Rc1/8 | [AmsneF
% 02:Rc1/4 B: ;&ﬁm«wsf
ﬁﬂ 03:Rc3/8
04:Rc1/2
V3
ANER R ~F
itk JMV-01 | JMV-02 | JMV-03 | JMV-04
O%&(Re) 1/8 1/4 3/8 112
AR =O=fI
{ERmEE BiEzER
fERRE(CC) 0~60
BARE(¢/min) | 530 | 1000 | 1100 | 2500
EE(9) 40 100 120 280
e
ANER R ~F
o A:EE5NTF o BROSAF LR ORINT
=B el HH [ AL SEER e il ez
c |F B E C _.F B .k
A A
g R A B c E F G H PS sW
vt LA 51 25 8.5 9 8.5 21.3 23.8 1/8 14
B 59 25 16.5 9 8.5 21.3 23.8 1/8" 14
Bv.0p LA 74.6 32 17.5 13.8 11 27.5 30 1/4 17
B 71.8 32 15 13.8 11 275 30 1/4" 17
vz LA 76 32 18.5 14.5 11 275 30 3/8 19
B 72.5 32 15 14.5 11 27.5 30 3/8" 19
JBV-04 | A 88.5 43.5 17 14 14 40 44.7 1/2" 26

374



